
DESIGNED IN AUSTRALIA BY:

THOMAS MOLONEY PTY LTD.

PH 02 4340 1444 FAX 02 4340 1400

EMAIL enquiry@rolacase.com

www.rolacase.com

Instructions:

Supplied:
1x handle
4x 6mm x 12mm long screws
2x fixed castors
2x swivel castors
16x 8mm nyloc nuts

Required for Assembly (Not Supplied)
Phillips screwdriver
13mm spanner or socket

Procedure:
1/. Insert the Handle in the 2 slots on the top of the 
trolley and secure in place with the 4x 6mm screws 
supplied

2/. Mount the 2 fixed wheels on the 8mm studs under 
the trolley (oposite end to the handle) and secure with 
4x 8mm nyloc nuts for each castor.

3/. Mount the 2 swivel wheels on the 8mm studs under 
the trolley (handle end) and secure with 4x 8mm nyloc 
nuts for each castor.

RCDK7M/C Assembly
Instructions


